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Calculate the cost and selling price of the job after adding 25% profit on total
cost.
Materials ¥ 24,000
Wages - Dept. A - 120 hrs at T 100 per hr

Dept. B - 80 hrs at T 60 per hr

Dept. C - 40 hrs at T 50 per hr
Variable overhead - ¥ 40 per hour '
Fixed overhead - ¥ 50,000 for 2,000 hours -
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s a product 2,000 kgs, raw materials at 8
were supplied to Process-1. Labour cost amounted to ¥ 4,000 and pri
overhead incurred was ¥ 2, 000. The normal loss was estlmate

was sold at T 2 per kg. Actual production in the process 7,5, 1
Prepare Process-1 account and value of abnormal loss.
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From the following information calculate : G
(a) Total kilometers
(b) Total passenger kilometers -
Days operated in a month - 30 days C
Trips made by each bus covering a distance of 200 kms one side
No. of buses - 4 -
Capacity of each bus 50 passengers <
Average passenger travelling - 75% capacity. -
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Answer any three questions. Each question carries fourteen marks. 3x14 42
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